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I. I yisa function of x such that ' >0 for all.x and y" <0 for all x, which of the [ollowing could

be part of the graph of y = f(x)?
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The graph ol a twice-ditTerentiable function [ is shown in the hg,urt. above. Which of the
following is true?
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2. What are all values of x for which the lfunction f defined by f(x) = (.1:: -3)e™" is increasing?

(A) There are no such values of x .
(B) x<-1]and x>3

(C) -3<xxl

D)y -l<x<3

()  All values of x



y, The graph of y=
X

is concave downward for all values of x such that

(A) x<0 (B) x<2 (C) x<5 (D) x>0 (E) x>2

&+ Which of the following pairs of graphs could represent the graph of a function and the graph of'its

derivative?
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(I5) There is no minimum.
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- What is the x-coordinate of the point of inflection on the graph of y = 5.\'3 +5x7+247
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Given the finction f defined by f(x)=cosx-cos™ x for —T=x =3,
(n) Find the x-mtercepts of the graph of /.

(b} Find the x- and y-coordinates of all relanve maximum pomis of £ Justify vour
answer,

(¢) Find the mtervals on whach the graph of £ 15 increasing,

(d)y  Using the informarion found i pars (a). (b). and (c). skerch the graph of 7 on the
axes provided.
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